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WORD OF THE DAY

HARBOUR

(VERB): (31T 21): shelter
Synonyms: conceal, hide
Antonyms: hand over
Example Sentence:

He was suspected of harbouring an escaped

prisoner.



WORD OF THE DAY




NEW PATTERN ERROR DETECTION




®* Direction: In each of the question below two

statements are given. You have to find which

statement(s) contains error and choose the

answer from the provided options accordingly.




1. (i) The boy, being a brilliant student, he will top the class.

(ii) As a result of the injury received by him, he died of tetanus.
A) Only statement (i) contains error

B) Only statement (ii) contains error

C) Both (i) and (ii) contains error

D) Both (i) and (ii) are error free

sl

Option A

Explanation: (i) remove he.



2. (i) Here comes Ravindra Jadeja, whom they say is the
best all-rounder India has ever had.

(ii) Either Manoj or Ravi has left behind their book.

A) Only statement (i) contains error

B) Only statement (ii) contains error

C) Both (i) and (ii) contains error

D) Both (i) and (ii) are error free

Option C
Explanation: (i) whom=> who; the relative pronoun whom/who is
the subject of the verb IS. So nominative case should be used.

(i) their=> his



3. (1) The crowd have no answer to what the culprit says.

(i) When you have finished your work you may go home.
A) Only statement (i) contains error
B) Only statement (ii) contains error
C) Both (i) and (ii) contains error

D) Both (i) and (ii) are error free

Option A

Explanation: (i) have=>has [collective noun crowd]



4. (i) As soon as he heard the news he wrote to me.

(i) After the law had been passed this form of crime
ceased.

A) Only statement (i) contains error

B) Only statement (ii) contains error

C) Both (i) and (ii) contains error

D) Both (i) and (ii) are error free

Option D



S.(1) Those sort of excuses are not allowed in
prestigious institutions.

(ii) Visit Mahendras for it keeps you apace with
the last trends in exams.

A) Only statement (i) contains error

B) Only statement (ii) contains error

C) Both (i) and (ii) contains error M

D) Both (i) and (ii) are error free

Option C
Explanation: (i) Those=> That ; are=>is (Sort is singular)

(i) last=>latest



6. (i) Before you go to impeach someone, make sure you
have the evidence ready to show.
(ii) He felt lone in the town where no one knew him.
A) Only statement (i) contains error
B) Only statement (ii) contains error
C) Both (i) and (ii) contains error
D) Both (i) and (ii) are error free

Option B
Explanation: (ii) lone=>lonely; [lone is a state when a person
has no companions while lonely is a feeling. So as we are

talking about feeling, lonely must be used]



*Direction (7-13): In the following questions

choose the grammatically correct sentence

from the given sentences.




7. A) It looks like it is going to rain this afternoon.
B) It looks as if it is going to rain this atfternoon
C) It looks as if it is going to rain today atternoon
D) It looks like it is going to rain today atternoon.
E) None of these

Option B
Explanation: As is a conjunction and like is
a preposition, always use as, as if, as though

etc to introduce a clause.



8. A) I can understand my sister better than my
mother.

B) I can understand my sister more than my mother.
C) I can better understand my sister than my mother.
D) I can understand my sister better than I can
understand my mother. |
E) None of these

Option D
Explanation: Sentence A and B are ambiguous. They can
mean that: I can understand my sister better than my

mother understands my sister. Option D) is clearly stated.



9. A) She said that Ravi had a fall last week and he had been injured.

B) She said that Ravi had fallen the previous week and he had injured

C) She said that Ravi had had a fall last week and he was injured.

D) She said that Ravi had had a fall the previous week and he had been

injured.

E) None of these M

Option D
Explanation: This is a reported speech of the sentence (She
said that). Ravi had a fall last week and he was injured. IN all

other sentences, wither the tense is wrong or the adverb i.e last

week must become previous week in reported speech.



10. A) Of all the students in the class whom do you think the teacher likes the
most?

B) Of all the students in the class who do you think the teacher likes the most?
C) Who do you think the teacher likes the best of all students in the class?

D) In the class, who do you think the teacher likes the most of all the students?

E) None of these

Option A
Explanation: Whom fits the

sentence because here it is an object



11. A) In 2015, she was promoted to the position of General Manager,
Systems.

B) She was promoted in 2015 to a General Manager, Systems post.

C) She was promoted to a general Manager, Systems position in 2015.

D) She was promoted in 2015 to General Manager, Systems.

E) None of these

Option D
Explanation: Option D, eliminates the

redundancy of the words position and post



12. A) If 1 have had any idea, I would have warned you
immediately.

B) If I had any idea, I would have warned you immediately.

C) If I have any idea, I would warn you immediately

D) I had had any idea, I would warn you immediately.

E) None of these

Option B
Explanation: If I had... I would have



13.A) More than one student have
expressed his/her support for the
campaign.

B) More than one student has expressed
their support for the campaign

C) More than one student has expressed
his/her support for the campaign.

D) More than one student have
expressed their support for the

campa Cg
Option C Explanation: More than one- is singular

]ﬁ) N)?lgt?u%fuﬁnle%%lth singular use of their is

incorrect.



PHRASE REPLACEMENT



14. He made himself master of practically every branch of
medieval learning, and has a thoroughly knowledge of
the sources and the bibliography of his subject.

(a) having a thorough knowledge of
(b) has had a thorough knowledge to
(c) Have a thoroughly knowledge for
(d) had a thorough knowledge of

(e) No Correction required
Ans.(d) Sol. Option (d) is the correct. We need to replace

‘thoroughly’ with thorough because thoroughly is

an adverb while we need an adjective (thorough) to
tell us more about the noun (Knowledge).



15. Gionee has been found guilty for intentionally
inflicting malware in over 20 million phones by a
Chinese court.

(a) had been found guilty for

(b) has been found guilty of

(c) has been found being guilty with

(d) have found to guilty for

(e) No Correction required

Ans.(b) Sol. Option (b) is the correct choice. Use ‘found
guilty of’ in place of ‘found guilty for’. Ex-
Guilty of murder , Guilty of theft.
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I' HOME WORK

(i) How will you prevent will you prevent the

bacteria to enter the system?

(i) I hope my review will elucidate the
strengths and weaknesses I found in your
novel.

A) Only statement (i) contains error

B) Only statement (ii) contains error

C) Both (i) and (ii) contains error

D) Both (i) and (ii) are error free



M HOME WORK ANSWER

There were 2000 applicants but only one-
eichth of them were --—-——-—- for the
interview.

A. Recruited

B. Enrolled

C. Shortlisted

D. Terminated

E. None of the above






